
Attach the small brackets supplied using Fig 1 + 2 as a guide - fit loosely to begin with.

Once the brackets are loosely fitted, attach the side panels as shown in Fig 3 + 4.

Please note: the two remaining ‘CSPAM80002’ spacers are fitted underneath the panels 
at the lower most mounting holes.

Once the brackets are aligned with the panels correctly, fully tighten them into position.

Fully tighten all other mounting points and check fixings periodically.

Kit Includes:
2X
2X
4X
2X
1X
6X6X
2X
3X

C22195
CFK22195
CBOLM60001
CBOLM60026
CBOLM60012
CWASM60003
CNUTM60010CNUTM60010
CSPAM80002

Mouldings (L+R)
Brackets (L+R)
M6 X 16mm Black Bolt
M6 X 25mm Black Bolt
M6 X 30mm SS Bolt
M6 Washer
M6 Aluminium Rivet Nut    M6 Aluminium Rivet Nut     (pre-fitted by Pyramid)
Spacer

22195 Yamaha MT-10/SP Side Panels Fitting Instructions

Any questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

Follow us on social media and 
feel free to leave us a review!

Fig 1

CFK22195 ‘L’

Fixed using 
OEM bolt

CFK22195 ‘R’

CBOLM60012
CSPAM80002

Fig 2

Left-hand side of the bike Right-hand side of the bike

Fig 3 Fig 4 CBOLM60001
CWASM60003

CBOLM60001
CWASM60003

CBOLM60001
CWASM60003

CBOLM60001
CWASM60003

CBOLM60026
CWASM60003

CSPAM80002
Fitted underneath

CBOLM60026
CWASM60003

CSPAM80002
Fitted underneath


